

$$\left[1 - \frac{u_t^2}{c^2}\right] [At + \gamma u_0 u_0]^2 = u_t^2$$

$$(At + \gamma u_0 u_0)^2 = u_t^2 \left[1 + \left(\frac{u_t}{c}\right)^2\right]$$

$$u_t = \frac{dx}{dt}$$

$$\int dx = \int [\quad] dt$$

$$\int \frac{dt}{\sqrt{t}} = \int t^{-1/2} dt$$
$$= 2t^{1/2}$$

$$\frac{c^2}{A} \int_0^t \sqrt{1 + \frac{(\gamma u_0 u_0')^2}{c^2}} dt$$

$$\left[-\frac{c^2}{A} \sqrt{1 + \left(\frac{\gamma u_0 u_0'}{c}\right)^2} \right]$$

$$\begin{bmatrix}
 \gamma u' F_x' \\
 \gamma u' F_y' \\
 \gamma u' F_z' \\
 i \gamma u' \frac{\vec{F}' \cdot \vec{u}'}{c}
 \end{bmatrix}
 =
 \begin{bmatrix}
 \gamma & 0 & 0 & i \beta \gamma \\
 0 & 1 & 0 & 0 \\
 0 & 0 & 1 & 0 \\
 -i \beta \gamma & 0 & 0 & \gamma
 \end{bmatrix}
 \begin{bmatrix}
 \gamma_u F_x \\
 \gamma_u F_y \\
 \gamma_u F_z \\
 i \gamma_u \frac{\vec{F} \cdot \vec{u}}{c}
 \end{bmatrix}$$